Homework Math 140
Lecture 8, 9,10
Will be Quizzed on March 28

This homework contains copyrighted material from James Stewart, Calculus, 7th edition, 2012. You are
not permitted to copy this file for any purpose other than completing your homework. You are not allowed
to give a copy of this file to anyone outside of our course.

Problem 1 (Textbook, page 136, 1-44). Compute the derivative.

1. f(z)=2% 17.y:$2+%\;‘%‘“”, 31.y:%.
_ -2
A 18 y = L=, 32 y= At
3. f(t)=2- 2t
ft) 3 19. H(z) = (v +271)%. 53, y = L2,
4. F(z) =328
20. g(u) = v2u +/3u. 34 y= ﬁ
5. f(x) =23 — 4z +6. JF
21. u = Vt+4Vio. 2
6. f(t) = 3t — 3t +t. w= 1Vt 35. Y = gt
2
— 1
7. gw) = a*(1 - 20). 22.0=(Vo+45) 6. g(t) = 'l
8 h(z) = (z —2)(2z +3). 23. f(x) = (1 + 222)(x — 2?). 37. y = ax?®+bx +c.
— —3/4
9. g(t) = 2t73/. 24 fla) = ZOEHVE 38 y=A+54 5,
10. B(y) = cy™©
) =cy 25. V(z) = (22% + 3)(z* — 22). 39. f(t) = 727
11. A(s) = —12. .
‘ 26. L(z) = (1+x+22)(2 —a?). 40. y = 755
12. y = a3 — 22/3 i X
27 Fiy)= (& - 3 + 5¢3). 41 y =Vt +t+ 7).
13. S(p) = N (y) <y2 y4) (y y°)
_ u6—2u3+5
14 y=a(z—1). 28. J(v) = (v* = 20) (v~ +v72). 42y ="
15. R(a) = (3a+1)2, 29. g(x) = £, 43 [(2) = o=
16. S(R) = 47 R?. 30. f(z) = 253, M. flz) = 2t

Problem 2 (Textbook, page 146, problems 1-19). Compute the derivative.

1. f(x) =322 —2cosz. 8. y=wu(acosu+ bcotu). 14. y=dzsecx,

2. [(z) = Vsinz. 9. y=52—. 15. h(0) = O csc — cot 0.
3. f(z) =sinz + %cotx. 10. y = sinf cos . 16. y = 2% sinx tan .

4. Yy =2secx —cscx. e

5. y=secftanb. 1. (6) = rieco- 17 J(x) = esca.

6. g(t) = 4sect + tant. 2.9 = 1=5ns 18. f(z) = sec.

7. y = ccost +t?sint. 13. y = Lt 19. f(z) = cotx.



